Sec 9.14

3. Surface Integral: el F = i 4 j 4+ k. Letting g{r y.2) = 22 4y + 22 — 6, we have
Vg=2i+j+2kandn = (2i+j+2k)/2. Then f f {curl Fi-nds = J’ f —;dH Letting
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Line Integral: Cy: 2 =3—2, 0<2 <3, 4=0 Gy 4y =0-20,3222>0,2=0: Cp 2=0—1u4/2, 6>y>10,
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6. curl F = —22zi + 2%k. A unit vector normal to the plane is n = (j + k)/ V2. From = = 1 — y, we have z, = 0

and z, = —1. Thus, dS =1+ 1dA = V2 dA and
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14, Parameterize ' by # = beost, y = 5snt, =4, tor 0 < ¢ = 27, Then,
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17. We take the surface to be z = 0. Then n = k and dS = dA. Since curl F = 1142 i+ 2ze j + 32k,

}g ? da + zy dy + tan™ l,fff"—// (curl F) - ndb—ffy dq-f/ y? dA
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